7. (a)
(b)

8. (a)
(b)
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Unit IV

Prove that a finite connected graph is
Eulerian if and only if each vertex has
even degree.

State and prove Euler’s formula for

connected planar graphs.

Find the adjacency matrix and path matrix

for the diagraph shown below :

b
c
a
d
Find shortest path from s to ¢ in the
given graph :
a 9 b
18 28
s 6| 14 10 >t
36
c 7 d
4 50
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1. (a)
(b)
2. (a)
(b)
3. (a)
(b)
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Unit I

Develop a recurrence relation for the
number of edges of complete graph k,
and find explicit formula for it.

Find explicit formula for Fibonacci

sequence.

Find the total solution of the difference
equation :
—a,_1—2a, 5= 2n?.

ap

Solve the recurrence relation (by method
of generating function) a, — 4a, | = 6.4",

ao = 1
Unit 11

Explain Hasse diagram and Hasse
diagram dual poset. Draw the Hasse

diagram of the patitions of 5.
Draw the truth tables for p®g¢q and
(pAgq)v~r where p, g and r are

statements.

(b)

(b)

(b)

Explain quantifiers.
Let L be a finite complemented lattice.
Then prove that every element ‘@’ and

‘L’ is the joint of unique set of atoms.

Unit 111

Let ‘a’ be any element of a Boolean
algebra B. Then :

(i) Complement of ‘@’ is unique

(i) (a")' = a and

(i) 0'=1and 1'= 0.

Prove that every finite Boolean algebra

is structurally the same as a Boolean

algebra of sets.

Explain consensus method for finding
prime implicants of a Boolean expression
and find the prime implicant of
E(x, y, z)=xyz+ Xz + xyz' + x'y'z + x'yz!

Explain Half-Adder and Full-Adder.
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